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This is how our texts read; and that which you say that he wrote aw
Nvnwn, how is it similar; there, etc.

OVERVIEW

After the X3 discussed the case of 'm P "7 P12 1Dn,! the XM continues
according to &07° mM»doN, ‘and that which you said (regarding '7 P31 'n p171% 1M503)
TvAwn aw and "7; they are not similar, etc. N1901N mentions other NRDTA.
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And if the text reads, ‘but why, since it is like Pw»wn aw 202’ this X072 is also

appropriate, however it is a question -
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And according to the texts which read; ‘the master said, etc.’, the X723 is
asking according to what we originally assumed that '7 0 'n P15 1101 is 277,

SUMMARY
All the mxo°) eventually conclude that '7 P11 ' P171% 11501 is not similar to ow an>
R ZAY g

THINKING IT OVER

According to the first two MXo7% (where the X3 maintains that P91 'm 1712 110
7 is Mwd), when the X771 states "n7 °» it is explaining the ruling. However
according to the third X0 that we are maintaining that '7 PIn 'm% 1501 is 20
because it is similar to w»wn aw 205 and the X 13 is asking that it is not similar,
why is there no answer, and if there is no answer the X723 should have concluded,
"owp'?!d

! The X3 resolves the query regarding 'm P71 '7 P11 11001 by citing the point of X1°37 that X? X377 7% w2 Rp X377 X
%2 °va &p (and he is Mwd). This concept also teaches us that '7 2711 'n P11 1901 is also Mws.

2 The x7»3 is asking (a new question), you have just deduced from X1°27 that '7 P71 ' p1772 12N1 is Mwo (see footnote
# 1), but why should it be mw», it is (seemingly) the same case as 1wnwn aw 2nd, where he is 2. [However
according to the first X073, the X773 is merely continuing to explain the resolution of the n1¥2°X according to X1°27.]

3 These texts read 1wnawn oW an3 >3 (2°0) "7 PN ' P17 11503 92 2. The X113 continues; 131 an: 77 .

4 However according to the first two MRO™) we now maintain that '7 P30 ' P17 11502 is 09,

5 See R"wAn.
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